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(a) Both argument I and

argument II are strong

M1 Teh [ 3R deh 11 wSe[d
g

(b) Only argument I is

strong

hac qeh | Aol &
(¢) Only argument II is

strong

hae qeh 11 Aol &
(d) Neither argument I

nor argument II is strong

EKIKE D ERKED IR EEGE]

MISSION SELECTION - SSC 2024

Q.1 statement :/ ShA :Has globalization helped in the development of India?

T JATRTOT 7 TR o TorenTar o weg iy 82

Argument :/ T :1. Yes, since globalization measures were introduced in the late
nineties, India was able to achieve steady economic growth while other developed

economies were struggling with recession.

I. B, <ifer IHTHTUT IUTAT T Toal o TIH o Il H Y& ToRAT AT o, WA e
e i Tferer e # wem &Y T o Wtk o fasfia sreleaaeed Wt &
Ty o @ o1

II. No, economic growth does not merely result in increase in income. It should
also increase the welfare of the people. Even after 20 years of adopting the
measures of globalization, India is still there is also a large percentage of poor
people.

I1. &, SATieieh Fieg WEr T | gieg W & ST 31 TH AT ok HodAT0T H ofeg, W AT
ATRTN STLTHIVT o IUTAT Tl AT & 20 TTA 915 Wt IRA 7 A+ oft Tha SR
Ueh T<T 9T 21



MISSION SELECTION - SSC 2024
Q.2 Which of the following numbers will

replace the question mark (?) in the given
. § number series?
C 7 Frefefe # & @ @ e € we
JEAT | UgaTaeh g (?) S Afdedtiud
HUlT?
56, 68, ?, 128, 176, 236

a) 80  b)116
0)74  d)92



MISSION SELECTION - SSC 2024

Q.3 Select the correct mirror image of the

placed at MN as shown.

feu TTu Herie Y 9E T St T e
FITT T g9ur S MN WR 3@ 14 7, St i

T T B
M .2 CR0IBS

ear692§ wX@agles
N

> given combination when the mirror is

s 2R06res
g 3C0189




MISSION SELECTION - SSC 2024

Q.4 Select the set in which the numbers are related

in the same way as are the numbers of the

following set.

I U KT A9 hitwg ed dead W@ TR

Haitem ¥ ey Fferfaa aag 6 seand @
(75, 25, 28) (136, 34, 38)

a) (27, 9, 15)
b) (45, 9, 12)
¢) (55, 5, 11)
d) (105, 35, 38)



MISSION SELECTION - SSC 2024
Q.5 In a certain code language, ‘CAPON’ is

written as ‘EYRMP’ and ‘DECOY’ is written as

‘FCEMA’. How will ‘POWER’ be written in

that language?

T A %e Wt H, 'CAPON' &1 'EYRMP' 3R
'DECOY' ! 'FCEMA' & &U | fora Srar 2
IHT e WINTH 'POWER' &l ¥l ot [Ta?

a) RQGDT  b) RMYCT
¢) RMWDT d) RNVDV



MISSION SELECTION - SSC 2024
Q.6 Pointing to a lady in a photograph,

Vijay said, “Her sister’s mother is the sister

of my father’s daughter.” How is the lady

related to Vijay?

Tk TER | Yok AiZAT shi 3T I & g,
forerar 3 e, owehY arge <Y e, W e i
Tt kT S8 31" 8 v, foea @ fohe e

e 52 a) Mother/ATdT

b) Sister’s daughter/sisi
C) Daughterfflfl':r
d) Sister/agT



MISSION SELECTION - SSC 2024
Q.7 Which of the following numbers will

replace the question mark (?) in the given

series

& TS et § T H " S |l 6 Igaaesh
g (2) &t glaweTiua et

28, 40, 25, ?, 22, 46

a) 41
JEX
¢) 44
d) 42



MISSION SELECTION - SSC 2024

Q.8 Select the mirror image of the given
P combination when the mirror is placed at MN as
( / —..—Njﬁ shown in the figure./ feu o "ot < guur i
\% ~/ ST agd hHINT Jd FUUT sl MN W W@ AT &,
e foh errerfa # feamar mar @




MISSION SELECTION - SSC 2024

Q.9 Select the correct combination of mathematical signs

to sequentially replace the * signs and to balance the

given equation.
f T Tt B deeT O 3 forg + Regl @t i
Y H Fge oh T8 TUTeT TRIgi o @@t S &t wa
EAIERI

25*5*10*%2*8* 11

a) Ty X, +9 —y —
b) X, Ty T +9 =
C)—, +9 B X, =



MISSION SELECTION — SSC 2024
Q.10 If 3 March 2020 was Tuesday, then what

was the day of the week on 3 February 2019?
IS 3 | 2020 i HITATR AT, 97 3 B 2019
! THTE T hi= AT fa o

a) Wednesday b) Friday
¢) Sunday d)Monday



MISSION SELECTION — SSC 2024
Q.11 Which letter cluster will replace the question

| 15 . ED )~} mark (?) to complete the given series?
& 712 SRAAT T YUT A o 1T hH AT AR THE
TgaTaw g (?) S AfaeATiud HEm?

ETRE, AZJG, WFBI, SLTK, ?

a) OPLM b) ORLM
¢) ORMM  d) OPMM



MISSION SELECTION - SSC 2024
(Q\ | > Q.12 A paper is folded and cut as shown below. How
N,

will it appear when unfolded?/=r E'ﬁ""l"s£ 31'@%’55‘ H
T ohl WIS hTe T sHU fET 7T Bl I8 SRt
@ﬁﬁm%mﬁ@léé‘ﬂ"




MISSION SELECTION - SSC 2024

Q.13 Two different positions of the same dice are shown, the
six faces of which are marked as Ant, Bat, Cat, Dog, Egg, Fog.
Select the word that will be on the face opposite to the one
showing 'Fog' / Ueh 1 UTH <hl & ITENT-3TeNT Rfaat fTEme e
2, N & =, wwrmee, faeeht, o, siet, Fiea & B8 wels
3ifehe 21 3T 912 ohT <A hITSTU AT "ShIET ST ATt WeTeh
fradia weteR W EEm

a) Ant/=(it  b) Dog/ T
¢) Bat/ et d) Egg/ 31T



MISSION SELECTION - SSC 2024

Q.14 In a certain code language, 'HISTORY" is
written as ‘SRHGLIB’ and ‘RECORD”’ is written

as ’IVXLIW’.How will 'ARCHIVE' be written in

that language?

U fATara e 9T A, "HISTORY' %t 'SRHGLIB'
o ®Y ¥ 1@ AT § 3 'RECORD' &t 'TVXLIW!
& &9 H foraT Srar 81 39 9T H 'ARCHIVE Rl
&Y foraT so?

a) ZIXSGEV b) ZIXTREV
¢) ZIXSREV d) AIXSREV



MISSION SELECTION - SSC 2024
Q.15 Which of the following letter-clusters will

replace the question mark (?) in the given series to

make it logically complete?

i shmen @ mfew w4 w R
Feferiaa @ & &= |1 sterR-uHE Ty ©F (?)
T TfaeATiUd SHET?
WUT, RPO, MKJ, HFE, ?

a) CAZ  b)ACZ
¢)CZA  d)AZC



MISSION SELECTION - SSC 2024

Q.16 Select the correct combination of

mathematical signs to replace the * signs

and to balance the given equation.

* forgl &l aged SR QU T aHieor &
Haferd o o forg wivrda gt o @@
TSI ST o9 ShiTaTu|

96 * 6 * 24 * 49 * 25

a) +, X, =,
) +9 — = T
¢) - 1, X9=

d) X, +9 —y



MISSION SELECTION - SSC 2024

(=

Q.17 From the given answer figure, select the

one in which the question figure is

hidden/embedded. / &1 T3 3T HATHIdAT H & 30
I TR Y g e e wer smerfa ke 3




MISSION SELECTION - SSC 2024

Q.18 Select the correct combination of

mathematical signs to sequentially replace the *

signs and to balance the given equation.
farg T wreftertoT B dafera e & forg + gt @y
TNk BT O dec4 & oo ot gt o ot
TS T oI ShiU|

57*35*7*14*2* 34

a) +9 +9_9X =

9
b) X, +9 +9_9 =
C) _9+9+ X, =

9" e T

d) +9_9 X,+, =



MISSION SELECTION - SSC 2024

Q.19 Statement:/d<hcd:
(a) Neither assumption 1 nor §¢ydents who have not submitted the record books will not be
assumption II is implicit allowed to appear in the practical examination.
A g | g 1R R ot 3 fentd o o 7 fog § 378 it ot & Safter et
g FACREO RS |

(b) Only assumption II is implicit Assumption Q9| -

HT L Eliol AT 11 ffee @ I. Practical exams make the students technically strong in the subject.
(c) Only assumption Lis implicit |, greifirer uRiaITd BT AT AR TehT &9 A T § Aete@ o= €l
hTc T Eliol AT | At @ I1. Record book is mandatory for appearing in practical examination.

(d) Both assumption I and II are yj, fiertE g UT=firen udterm & 9T @ o foru arfamd 21
implicit

TEiTAT 1 3R 11 3 il @




MISSION SELECTION - SSC 2024

Q.20 Select the option that is related to the fifth term in the same

way as the second term is related to the first term and the fourth

term is related to the third term.

30 foerea &7 T Kk S utee ue 8 3E U Hefaa g, [’
TR O UE, TR US| S <iter ug, e g | Hate B
DENIAL : IANDEL :: OBJECT : ECJOBT :: FLAVOR : ?

a) VOAFLR  b) OVAFRL
¢) VOAFRL  d) OVFARL



MISSION SELECTION - SSC 2024

Q.21 Select the option that is related to the fifth term in the
same way as the second term is related to the first term and

the fourth term is related to the third term.

39 faerea &t =@ HifS St aTee U O 3ET TR Heted
forer T O R, Ut ug § S iter ug, e ue & Haifia B
YAR : RAY :: TCA : ACT :: TAB : ?

a) TBA  b) ABT
¢)ATB  d) BAT



MISSION SELECTION - SSC 2024

Q.22 Select the Venn diagram that best

illustrates the relationship between the

following classes./39 a9 3T T TAT hifoTT
o FAferRaa ot o ft=r o daier skl gaiay &9

¥ IITTAT 2

King, Father, Queen
T, ToaT, o

oo




MISSION SELECTION - SSC 2024

Q.23 A paper is folded and cut as shown. How will it
appear when unfolded?/Ueh ST ehi HIST ATAT & X fe@mg
T TAR THIET ATAT 3| THe T TR AT h¥ (G S0?

CANMMBAC
OVEEEVO




(a) Both argument I and Q.24 Statement :Swhed :Should all annual examinations be

argument Il are strong.

discontinued at the school level up to class IX?

AT it | 3R Tefter [ ST ohT Fohel TX WR A1l et ek ot anfies wiemd g e 3t

|

(b) Neither argument I nor

argument II is strong

T & T [ 3R T Tl 11
T &l

(¢c) Only argument II is
strong.

FIA AT [1 9 2l

(d) Only argument 1 is

strong.

HAA TATe [ T Bl

aTfee? ;
Argument:/SEAT : Loty

(i) Yes, it will provide opportunity to A,y'm¥0re and more rural
students to get education at secondary level.

(i) B, 39 ATk | SAfereh UTHIUT BTAT il HTLATHER T U 91817
ITH S ST STTER ITH ZRTT

(i) No, it will not help the students to get college level
education.

(ii) TET, TE BT Al RIS FT hl TITT AT T | IS T2t
HATT



MISSION SELECTION - SSC 2024
Q. 25 How many triangles are there in the given figure ?

<t ¢ erreRfer ® fohaw Fraer ¥2
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